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The figures in the margin indicate full marks for the questions
ALLOTMENT OF MARKS

PART—A / Rel9—=

Q. No. 1({a—f) carries 1 mark each : 165 16
Q. No. 2( a—f ) carries 2 marks each : 2x6-= 12
Q. Nos. 3-7 carry 4 marks each ; 4x5 =20
Q. Nos. 8 & 9 carry 6 marks each : 6Gx2i= 12
Total = 50
PART—B / fe1—y

Q. No. 10( a—f ) carries I mark each : 1x6 = 6
Q. No. 11( a—f) carries 2 marks each ; 2x6 = 12
Q. Nos. 12-16 carry 4 marks each : 4x5 = 20
Q. Nos. 17 & 18 carry 6 marks each : 6x2 = 12
Total = 50

Total (PART—A & PART—B) 50+50=100
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PART—A
e—s

( Introductory Microeconomics )

1. Answer the following as directed : 1x6=6

fafResfR Mo Spid Teg e

(a) Define the term ‘scarcity’.

TP SRE IS |
(b) Opportunity cost is also known as cost.
(Fill in the blank)
SIS TR T qCeT8 FI4 TF |

(FTE =59 34)

(c) What is budget line?
qCEB @ 2

(d) Define variable cost.

ARG IR SRS TS |
(e} TC = + THC.

(Fill in the blank)
(*FIR {9 F9)

() Why is the AC curve ‘U’ shaped?
AC @b @ ‘U Spled 22
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2. Answer the following questions : 2x6=12

e eprefeg Teg e ¢

(a) Distinguish between microeconomics and macro-
economics. 2

JRIM G2 AT SLR{RE T N @9 |
Or / 941

What are the central problems of an economy?

G FLAST T FTPmsE | Fi o

(b) Write two determinants of individual demand. 2
e vifen et 1 TAmE =7 |
Or / 9341

What is inferior good? Give one example. 1+1=2

98 w1 917 9o Twrzge WS |

(c) Define the following : 1+1=2
fafReskr s we :
(i) Total product
5 TeoAT7
(i) Marginal product
fallica e Lo
Or / §=41

Briefly explain the concepts of short run and long run.
1+1=2
I @R TLPET—Z G 707 = 0 WS |
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(4) (S)
(d) Distinguish between fixed cost and variable cost. 2 3. Explain the law of diminishing marginal utility with the
] help of schedule and diagram. 4
AT TR Ao IR IR A i 3% o TRCT TP 209 ST R e w4
Or / 941 Or / 41

Define price elasticity of demand. Mention any three

Draw a long-run marginal cost curve and long-run average _ )
factors influencing price elasticity of demand of a

cost curve. 1+1=2

commodity. 1+3=4
ﬁﬁWWWW@a{W%W@W@%@W| WWWWH{WHﬁlﬂﬁWWWWW
' ereife 91 (T (el T T Sray 9 |
(2) Wihat: i& ‘the relatiofiship between AR ‘ard ME? o 4. What is meant by returns to a factor? State the three
' phases of the law of variable proportions. 1+3=4
T SR 3R 2AF S T F7=F 1 2 3> TAMICR AfSw e F @R 2 RIS Sere [l v feafs
T 99 |
Or / €1
Or / 9241
Frove that fercoyiiom ppticey aveiage IoMpIcs From the data given below, calculate (a) marginal cost and
21 I A (I 976 AV ¢Fed, wE = TS O | (b) average cost : 2+2=4
i are sUslR 7/ (o) 2IfeF T GR (b) 5TC IV S 9
Output e - R R = U R
(1 Write two factors that affect the market supply of a kil
commodity. P Total cost (¥) |[10|20|28|34 (3842|4856
15 77 (511)

Gl G SR @l 2o FEeRl 1 MR @9 |

S. Mention four features of perfect competition. 4
Or / 924l
_ *f efecafarenyere s oRlb (IR Teay 9 |
If the percentage change in quantity supplied is 10 and or / Sy
percentage change in price is 4, calculate price elasticity of
supply. Distinguish between monopoly market and monopolistic

market.

A @B AT WeE AfET 4 O GR I ARNTET 10
ST AGR G GFIRTR AfSTORER qreEm T Al Fefg 749 |

*[OI 2, ¢ ISR T efegiermel fef 39 |
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(6) (7))
6. Distinguish between price ceiling and price floor. 4 8. What is consumer equilibrium? Explain the conditions of
e B ST g9 T SR We ~iiel el 9 | consumer equilibrium with the help of schedule and
7 diagram. 1+5=6
Or / &A1 TS Il F1? 99> AR (FE SACSIER SRSl Foid
Mention the effects of the following on the supply of a SIS SEUPh H b, E
commodity : 2+2=4 Or / 9=[1
(a) Fall in the price of factors Discuss how the market demand curve is derived from
%) S : individual demand curves. 6
b) Rise in the per unit tax "
(b) P e TR @9m == ISR SR @9 ST AT T AW, Al
GFb TR @R S0 akiRestr ger TSm99 9|
(a) TemmSER wIcTE 3ot
(b) =% G T T 9. “Under perfect competition, industry is price maker and
firm is the price taker.” Explain. 6

‘ol efecfarengere qremca Trmiel =@ v el g3k afevm == v

7. How does imposition of per unit tax affect supply curve of SRR 1 T <9 |

a firm? 4 :
4 A F91 LA ] OB IS R IO 28I e 2 e
With the help of a suitable diagram, explain the process of
Or / 9241 ' 1 I { :
determination of equilibrium price of commodity under
The demand and supply functions of a firm under perfectly competitive market.
perfectly competitive market are given below : Coipe foram Ry o REieREe e G waR S W
D=5-2P faefieerm aifemafs < <9 |
S =-25+3P
Where, P =Price, D =Quantity Demanded and PART—B
S = Quantity Supplied. TS
Find the equilibrium price and quantity. 2+2=4 .
o efecrfrenpre T 9 «fSpR PR GR QM Fe A ( Statistics for Economics )
i IRE :
; Ve 10. Answer the following as directed : 1x6=6
S =-25+3P FafReslr otk Teg e :
@G, P =%, D =481 5137 @< S = WA =0 | (a) Who is known as the father of statistics?
SIERE 7 @32 “{fFme Fief 39 1 AP R Progmel e el I/ 2
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(8)

(b) What do you mean by wholesale price index?
RN 7 IPFRS TEC F @R 2

(c) Write one merit of direct personal investigation.

O PSS SPTRAICE G0 [ =14 |

(d) Which of the following is a measure of central
tendency?

oA D R 2@l AR 9Fb It 2
(i) Arithmetic mean
A 1%
(i) Median
e
(iii) Mode
EEGE
(iv) All of the above
A TN

(Choose the correct option)
(o Rl g e)

(e) is the difference between the largest value and
the smallest value.
(Fill in the blank)

Tooen o1 @ e YO e T |
(T & 9)

() What is Lorenz curve?

@AY T4 12
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11. Answer the following questions : 2x6=12

eoa easfo Teg e

(a) Define the term ‘statistics’ in plural and singular
sense. 2

2e] GAR 93 S oA e’ -9 i wie |
Or / ST

Write two importances of statistics in economics.

SR “AfeRyE Ko 1t swe @9 |

(b) Write two characteristics of statistics. 2,
offfoReme Rearce i ¢afes coe |
Or / J[1

Mention any two limitations of statistics.

iR RE™ @ @ 16 Toaer Sray 399 |

(c) Calculate range and coefficient of range from the
following data : 2

N7 WSl (AT 2PN 3R SPIET BT S 97
8. 12, 18 22, 13, 20
Or / J3{y

Write two demerits of range.

2PTICI i Py (o9 |

(d) Mention two merits of median. 2
TR 76 R =19 | '
Or / 5311

Write the formula of calculating median in continuous
frequency distribution.

wf<foRe IR Rerete @ q4m1 SR @i @9 |
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( 10 )

(e) State two demerits of standard deviation. 2
W% RbeTcs 7o SpjiRer Sy 9 |
Or / ¥<<1
Mention four alternative methods for éalculation of
standard deviation in discrete series.
Riften IR Romsem (e I [{5e S IR [{es “1afo
TaE) 9 |
() What is scatter diagram? Write one merit of scatter
diagram. 1+1=2
Rifpe Ba oo 12 97 9l [ @19 |
Or / S2AT1
What is arithmetic line graph? Mention one of its uses.
1+1=2
SHEA AT G112 @7 <35 92 S 9 |
12. Write four main parts of a good table. 4
a3 S SIfeTFE SR 24 BiRe &1 |
Or / S2d1
Define sampling errors. Mention its main types. 1+3=4
Afosae FHg gl w8 | «F YA APl @14 |
13. What is diagrammatic presentation? How is it useful in
economic analysis? 1+3=4

BT Torgrem T 2 SfAfes ReRc off Frerd Togam 2
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(11 )
Or / =1
Draw a histogram and polygon from the following table :
2+2=4
Aeox Sl (AT TEETY GTR IRPH SRF 9
Marks obtained |10-20|20-30|30—-40{40-50|50-60|60-70
2 <199
No. of students 10 k2 16 20 18 9
RIG-RIGI 30T
14. Define arithmetic mean. Discuss its properties. 1+3=4
snfafes sIces ikl w18 | 9q CaPRrsel SeEne < |
Or / 941
Calculate quartile deviation from the following table : 4
eoq Siferifs (AT v9Y Rveea = stem 359
X 1 2 3 4 S 6 7
¥l L 80038 M RSO 220 08| SD 58 160

15. What is dispersion? Discuss the characteristics of a good
measure of dispersion.

Rewei e 2 = Resere «ifdee” aErsfk sieem 99 |
Or / 941

1+3=4

Distinguish between absolute and relative measure of
dispersion.
Rl =199 ol @R Ao Feom Feay =1 o1 |

4

16. What are essentials of a good measure of central
tendency?

I (FE 7S] ARACR arEmEamesiE 2
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17.

18.

(12 )

Or / 9<1

Define correlation. Discuss its main types. 1+3=4
STEFCRT TR WS | GF 24 AP HACEDA |

What do you mean by primary data? Explain the different

methods of collecting primary data. 1+5=6
AT vy e o § @R AR ww e fifen cmfssf

SICEHT <P |
Or / F241

Define classification. Describe briefly its main objectives.
1+5=6

eRSETe kel 718 | qq 27 Spnaer FCFC T A |

Explain the meaning and importance of index numbers.
2+4=6

o IR I G e e 1 9 |
Or / F%[1

Calculate the mean, median and mode from the following

frequency distribution : 2+2+2=6

Moo TSl Rower (e Afafee 51¢, TN 933 T2e1e o7 79 ¢

Class
interval |20-25|25-30|30-35|35-40(40-45|45-50|50-55|55-60

I SBTET

Frequency 7 9 11 28 30 22 7 5
IS

W A ok
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